DPP No. 18

SYLLABUS : INDEFINITE INTEGRATION

1 it | 1 dx = tan (5+a] +C, then
' 1+sinx 2 '
(A)a=—%,CeR (B)a=§,CeR (C)a=%”,ceR (D)a=§,CeR

1
2. If [(sin2x-cos20) dx = 7 sin (2x-2) + C, then

(A)a=§Tn,CeR (B)a=—§Tn,CeR(C)a=%,C€R (D)a=g,CeR

4 1
3. j cosax+ b dx = A cos 4x + B; where A & B are constants, then
cotx — tanx
(A) A=-1/4 & B may have any value (B) A=-1/8 & B may have any value
(C)A=-1/2&B=-1/4 (D)A=B=1/2
2
4, The value of I% dx is equal to
I dx )
5. The value of Sinx. Sin(x+a) is equal to
6. The value of j555x. 55" 5% dx is equal to
5% 55X 55X
55" 3

(A) a7 € ®FT(ME+C (O [ +C (D) g +C

7. If I % dx = K sin™' (2¥) + C, then the value of K is equal to
1— 4%
A 2 B L 2 C L D .
(A) fn (B) 5 ©) 5 (D) 73
dx .
8. If y =f 3, andy=0whenx =0, then value of y when x = 1, is:
2

(1+x)

1
(A) \E (B) v2 (C) 342 ®) 7
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10.

11.

12.

13.

14.

15.

The value of I tan® 2 x sec 2x dx is equal to :

1 1 1
(A)% sec32x—5 sec2x+C (B)—g sec32x—5 sec2x+C

1 1 1
(C)g sec32x—5 sec2x+C (D)% sec32x+5 sec2x+C

COS2X

The value of I 2 dxis equal to

(sinx+ cos x)

-1
sin X +Ccos X

(A)

(C)/n(sinx—-cosx)+C (D) ¢n (sin x + cos x)2+ C

(B) fn (sinx + cos x) +C

The value of I[1+tanx.tan(x+a)] dx is equal to

sinx sinx
(A)COSa.ﬁnm+C (B)tana.ﬁnm+C
cos
(C)cota.an+C (D)cota.zn%+C
The value of | s dx i I t
e value o x(1+x7) x is equal to
2 2
(A) x|+ = m|1+x]+C (B) x| -= m[1-x]+C
2 2

(©) x| == m[1+x]|+C (D) x| +Z m[1-x7]+C
The value of I(X—1) e dxis equal to
(A) —xe* + C (B) xe* + C (C)—xe™ +C (D) xe™ + C
The value of I[f(x)g”(x)—f”(x)g(x)] dx is equal to

f(x)
(A) 39 T C (B) F'(x) g(x) = f(x) g'(x) + C

g'(x)
(C) f(x) g'(x) = f'(x) g(x) + C (D) f(x) g'(x) + f'(x) g'(x) + C
I _ Rl dx equals

T

arcsecx - —X_ 1 C sec 'x+—"X ¢

(A) = (B) %,
1 /n x /n X

(C) cos " x— +C (D) secx-— +C

VX -1 VX -1




16.

17.

18.

19.

20.

21.

22

The value of I dx is equal to

1 174
@ (1] vc @eer e

dx

The value of I 3 Isequalto
X

XvV1-—

©) (FLJM +C (D)- (1+Xi4j1/4 +C

X4

1-x% +1

V1-x% -1

+C

(B) %zn

1
(D) 3 M |1=x*|+C

A) + 1-x° 1 +C
— n|———
3 V1-x3 +1
1 1
(©) 3 N ﬁ +C
3 -9 -5
If [ dx = —2[Atan2x+stan2x] +C, then
Sin ' X
1 1 1 1
(A)A=5.B=% (BA=g,B=;

oi2

sin
Antiderivative ofli_); w.rt. xis:
1+ sin“Xx

(A) x —g arctan («/5 tanx) +C

(C) x — /2 arctan («/5 tanx) +C

Integrate T cotx

(A) %Iog | sinx —cos x| +%X+C

© %Iog | sinx +cosx | —%x +C

Integrate with respect to x :

1
2+cosXx

Integrate with respect to x :

1
2—-cosXx

1 tanx
(B) X‘f arctan( \/EJ +C

t
(D) x — \/Earctan( anx} +C

(B) %Iog | sinx +cosx | +%X+C

1 1
—log|sinx —cosx|-—x+C
(D) > gl | 5




23.

Integrate with respect to x :

2sinx +2cosx
3cosx +2sinx

24, Integrate with respect to x :

I

1+sinXx + cosx
25. Integrate with respect to x :

i

2 +sin’ x

ANSWER KEY OF DPP NO. : 18
1. (A) 2. (B) 3. (B) 4. 2sinx-—In|secx+tanx| +C
sin x
5. cosec a In (o mmsl + C 6. (c)y 7. (D) 8. (D) 9. (C)
10. (B)  11. (c) 12 () 13. (€) 14. (C) 15. (A) 16. (D)
2 [tanx/zJ
17. (A) 18. (B) 19. (A)  20. (A)  21. 5 tan 5t c
22, = tan («E tan 5) +C 23 2 n|3cosx+ 2sinx| + C
. 3 2 . 1377 13
1+tanx i 1 7\/§tanx

24. In 5| * Cc 25. \/g tan «/5 +C




